Oy=2 ;G 3 bely Qoo Yyiz @ Qu=373=0

Q= tisd 2 )Yy
(‘%alj—}
(I’r}f:}l": Qt?d }Cfiﬁ Ar L=2 ] E"‘E;? 1+ lh":"} q¢r=.f(+5.;}} Qr: :}--rg':-“
C“%a Ou=23 G2t 3276, Qo= B6aly, Qus>t0=Tl, Q¢ [y.3=14,
3

2 > - 4 v
& @20, Gd6~d =8, G792 =2 QuIdig-2 T0,0pdie-] -3
ISR

o1 ?

2 2 2
( q|:"D y O 2 =0 _‘lt‘?_lC{.,::-l"'l.‘-‘--l} ﬂ!"'\: ~{~2)*2 '-t--lj ﬂi—t‘(‘l) tE -2
+5h '

-1y 2 2 3 -
@?+] Qrzwf, Qa =4t =0, Qo ot :1{; By, = Leg = Py BT 13ty = 30

3 L\ 3 3
.J__} Q:':.;.':)_. Et‘znr o-—ﬁf:]‘ﬂ{.h;—,{_u_-:-ﬂ[! &%:q-;-],-.—}g,’ &r-‘aé"bszﬂd
()
AE &I(H') 2{ 21, IS
{35 Q'u‘ult T4 T Yy G Lij:?& G

= , Qy = . 2k Gyys 4’{%—“)15

1

0.~ % ) ¢ . 2 2 v
OW = .&1~1+(~4j-2,a5~,1+(~;;: B, Qys DACL) 52, Q7 dFlad) 2D
e e A tyo b s d g de e akap fo L
Ca I T T R T L A S N TR Rl il ol

y/ 4/, /

Y, X 4 d - N B S U A
(?5-‘!'] =) Orgs 3 » Gy = a0 T, Yy e T M, “s Yetf ~ S
23 ! 1 o =
LE_},:,I q;-_—.{., G1=1]fq'{'2'll"‘ff - .1chaﬁvizz.félz.l_l=:_..IC{‘T-I1J?_,421?,4| 1‘1’-{} ﬂl"“zrd‘illt f _f‘

| N iy

hetp.Afheshbonts.comy/ Y Ao Ivora o



heshbonia.com



